Geometry CC

mcles REVIEW QUESTIONS
£

; Y e m;ine the ce;lter-avd lr.adlus of the given circles.

i (x‘7) +(y+10) = B maewe e “.,..,,«.M%_,w .,.mm,.ﬁ_
b)1oo=(X*3)z+J’2 Center (=3, O ) Radius=_L O
o (x_s;)’+(y+2)2 =1 Center | %, ~L) Radlus-__j__

2. Write the equation of each circle
p 4

3

circle A ()(-(a)z‘v\/" =1

© o - vl W

crcda B %=+ (\/—SY: |\

T e A LT 1 ;4."“,. x

* 4 & o hon -2

3. Write the eq:iation of each circle 2 L
a) Radius =7 cm Center (-3,6) ( X ’.>3 o (\, —U) = L"Ol

1.
b) Center (1, 6) passingg{through (-3,3) (x- \)7'1— ( \/ —(g‘) = Z,S-
Y=

¢) Endpoints of diameter a'r?_L
C(z,-3 Y=Is

d) Radius = 10 cm C(3,-3)
2
(x-2)*+ (y+ 3)¢ =100
4. What are the center and radius of each circle

a) x2—14x+y’—2y—50=0 b) x2+y2+18x+1'7=0

LX_-7)2+(Y,\)7’:IOO | ()(ﬁoﬂz.{—\/z =04
. center: (1,1 centec (-4,0)
rodivs® 1 O radivs: 9
a, FindmzA. b.  mzB=110°and m£C=100°.

o Findmdcd. = [60O°
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6. Determine the translation vector and scale factor of the dilation for the
following similarity transformations.

Transiode Veqor: <\ -4
Dg 2 (oA =B

7. Draw the following
relationships,

a) 4B tangent tocircleHatB.  b) The external tangents

- of circle A and B, ;

8 Solve for the missing informatlon. given the 4B isa tangent line to circle C. 2. a2
N +anss=q ) G +3"=X

CB= 5_cv_v, _ Ac=l1em B=_0.50 m FA=_4 o
9. Solve forx (4B and 4D are tangent lines) |
X°=%=13
TR
-3 13¢cm X = o Cm
4

10. AC =14 cm, CE = 16 cm and EA = 18 cm. Determine AB, CD and FE.

AB= 3
L= G
FE= 10




12. Determine the length of radius A AC

a) b) )

A4S -US 90

A
il +4S >

AC= (Q.00 cm(2dec) AC= ﬁ.m(.madec.) AC= 3ﬁ M (E)

c= \% tm

13, Find X in simplest radical form.

= b3 em =SB Cm)

14. Find the measure of each angle or arc.

""‘{1 "' mZl= ‘j
’ m2 = ___Q.:.’:--— = mZ2=
m4£3 = 'L%(

e



@“

mél-

msl = iLo ms2= “!20 mz IQ
mL3 = u'_'j
1)5. Determine the requested value(s). (Lines that appear to bc tangent are tangent.)
a b)
"
92°
104°
mei=_ 1\° 7 T b o O m2=153° mi =(0° ms2=
16. Determine the requested value(s). (Lines that appear to be tangent are tangent.)
a) Sx+?>' 1x- 14 b)  2(SA)= 2x+3Y )
56° ’ 4x+6
2%+34 ‘
X = mZABC = _L X = e L
d) 13=1 (s6+4x+6)
5x+24 SZ"' '5(35(‘)‘2'1“3”) \L“O = (02'+fo
04 = 2x+2h B =Hx
i M. _ 2\= ¥
¢ N 4o=2x

x= LO mz’z?a_\_?_f_*o_ 203 ¥



' ve for the missing values.

ni=_100% byms2=_30°
- o

L]

Ih)
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